NOTES:

A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING - DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/ POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY

TWIN-DISC CONTROL SYSTEMS OR MODULES.
B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION ®
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED EYEBOLTS FOR LIFTING MARINE
POSITION, PUSH TO ENGAGE PRIMARY CLUTCH. TRANSMISSION ONLY. (2 EYEBOLTS,
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED . 1487 — = ONE EACH SIDE). EQUALIZE LOAD
POSITION, PULL TO ENGAGE SECONDARY CLUTCH ON BOTH EYEBOLTS TO LIFT
MARINE TRANSMISSION ONLY
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH 87— =
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN CENTERED POSITION AND OPEN 6.0 30.0

WHEN LEVER IS ACTUATED FROM CENTERED POSITION. OIL LEVEL GAUGE
2. CURRENT =20 AMPS MAX. [

3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING.

D. PRESSURE REGULATOR ADJUSTMENT.
1. REMOVE 1002144 CAP AND LOOSEN 1002145 NUT.

2. CLOCKWISE ROTATION OF 1020939 PISTON INCREASES T[]
PRESSURE. COUNTER CLOCKWISE DECREASES PRESSURE. N b
3. LOCK PISTON IN PLACE USING JAM NUT AND REPLACE CAP. oS
LL] . : e ———
E. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE S % 7~
AND TEMPERATURE ALARM LEVELS. 3 2 8 N @
Q ® @«
N N~
Qe - . ENGAGES PRIMARY
F. ALL POINTS AVAILABLE FOR TESTING ARE CODED <:> b H] SHART CLUTeH
' 4 | SEE NOTE "A
INPUT GROUP REFERENCE PLANE ENGAGES SECONDARY\
1 SHAFT CLUTCH
PTO ADAPTER MOUNTING FACE , S SEE NOTE "A"
LEFT MOUNTING BRACKET FACE $23.0 THRU
HEAT EXCHANGER

M42x2.0 METRIC PORT
ECTION A-A CONFORMS TO ISO 6149
SECTIO TIGHTENING TORQUE 108 +10 Nm

RIGHT MOUNTING BRACKET FACE 8 HOLES, EQUALLY SPACED WATER OUTLET FOR\Q

EQUIPMENT SHOWN:

- 1017769A FREESTANDING INPUT HUB

- 1020941L GP VALVE WITH EC300 HARNESS
- RAW WATER HEAT EXCHANGER

- STANDARD PUMP GROUP

- LESS COMPANION FLANGE

PRIMARY CLUTCH (FIRST)
. — = = T - PRESSURE PORT
WATER INLET FOR iy —— N T = = M12x1.5 METRIC PORT
) CONFORMS TO 1SO 6149
APPLICABLE MODELS: M5 0 METRIG BORT R R N | TIGHTENING TORQUE 1615 Nm
MGX-6690SC PER ASSEMBLY 1020674 SERIES CONFORMS TO ISO 6149 2 L | ‘ {7 | D MAIN PRESSURE PORT MAIN PRESSURE PORT
MGX-6848SC PER ASSEMBLY 1020675 SERIES $374.0 TIGHTENING TORQUE 108+10 Nm | A N $ M12%1 & METRIC PORT M14x1.5 METRIC PORT
' i S P! i I CONFORMS TO I1SO 6149 CONFORMS TO ISO 6149
] TIGHTENING TORQUE 16+1.5 Nm TIGHTENING TORQUE 202 Nm
AR — ; CONNECT OIL PRESSURE
| — GAUGE LINE HERE. :

I H H I ‘ : -

| | X) + L

¢ 24.5 THRU ALL - —/ R> = | ®. 18

12 AOLES BASED SECONDARY CLUTCH (SECOND) H i ~

N 14 HOLE S
(E)QUALL(\? SPSACED PRESSURE PORT - s X i e
M12x1.5 METRIC PORT — ‘
CONFORMS TO ISO 6149 R L e (SECOND) N NS -
TIGHTENING TORQUE 16+1.5 Nm M1951 5 METRIC PORT >

CONFORMS TO ISO 6149 NI ERENIPS NN N - -
TIGHTENING TORQUE 16+1.5 Nm A=A - -

W

&=

SECONDARY CLUTCH (FIRST)
PRESSURE PORT

$»325.0B.C.

LUBE PRESSURE PORT

M14x 1.5 METRIC PORT
CONFORMS TO ISO 6149 CONFORMS TO IS0 6149
TIGHTENING TORQUE 20+2 Nm TIGHTENING TORQUE 34+3 Nm SECTION C-C

VIEW B-B @

SECONDARY CLUTCH (FIRST) C —
PRESSURE PORT I
M12x1.5 METRIC PORT '

- AF?SOR-(%X - DIRECTION OF ENGINE CONFORMS TO ISO 6149
: — TIGHTENING TORQUE 16+1.5 Nm !
|
] ROTATION OIL FILTER
- 619.50 - MAIN PRESSURE PORT 24 mm CLEARANCE REQUIRED .

TO REMOVE FILTER CANISTER. '
TIGHTEN FILTER AN ADDITIONAL

1/2 OF TURN AFTER FILTER ! BREATHER / REMOVE FOR OIL FILLER
GASKET MAKES CONTACT '

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149

—2] TIGHTENING TORQUE 20+2 Nm

SEE NOTE "C"
TEMPERATURE AND
LUBE PRESSURE PORT SEE NOTE "B" PRIMARY CLUTCH (FIRST)
AFTER HEAT E)éCHOANGER _ DRy CLiT e
M14x1.5 METRIC PORT
- M14x 1.5 METRIC PORT E—J
i m e ) 4N I TIGHTENING TORQUE 20+2 Nm
[ L EHR A
==l IR 1 T 0o . —
&é d@#@%@é : o § L .
| = | | - X
& | P _°=2® © o < +
o fff% [ % : (,//ZN\\\ : 777 i S===== | : ﬁ‘_
) ! | : r@ \\\\% o ‘u ! __JTT—TEMPERATURE PORT ! o —
. o M14x1.5 METRIC PORT —
H PRIMARY —__ || AN | ©i CONFORMS TO 1SO 6149 W , P
S CLUTCH [ | s BEFORE HEAT EXCHANGER = !
| o SHAFT ¢ 2y — | TIGHTENING TORQUE 20 +2 Nm 7 | 1
| | ” | =z L — ; |
H . i . . . . . . ‘ % @ r . . . == _ =
’ l: | 1 L ‘ I : - ‘ - I | [ ‘;:a)'i = :i
o \ ‘ + @ ~ :
To) y = \
o ~ J : ey / | O - E
| | | o ) \ P | |
T ;@ b Ngo ° |
o 1y 1 vl
1o ‘ ..OO@\. Fol N o
o i \ ;
8 v = : J{\ 4 ‘9
= 1 + // . S o ™
" i Q %ﬁ |_—OIL STRAINER
N HI\ N HI FOR USE WITH OPTIONAL
-- T - TRAILING PUMP
= ;i o[- M12x1.75 THREAD, 13.6 DEEP
CENTER OF GRAVITY . 121mm CLEARANCE REQUIRED
Ee—) s B TO REMOVE STRAINER
o — - S o
E [ \”;; L | o
. [ S MY [ 1 E
’ g S g —" = B
/ | - T
\ .~ 1 I : !
M24X3.0 THREAD, 38.0 DEEP _ 3] Yo T 14
16 HOLES, USE ALL (16) HOLES, i SN L |
8 PER SIDE FOR MOUNTING UNIT. N © |
USE 8.8 PROPERTY CLASS QUALITY NN S B
CAPSCREWS PER ISO 898-1 AND TORQUE TO U . = ‘
S574 OR SERVICE MANUAL VALUES N\ : v L]
OIL STRAINER . == g
M12x1.75 THREAD, 13.6 DEEP N \DIRECTI ON OF OUTPUT
CENTER OF GRAVITY 121mm CLEARANGE REQUIRED O 1 H © © FLANGE ROTATION i | b
OUTPUT (R.H. ENGINES DRIVING PRESSURE PORT ! ” |
SHAFT @ THRU PRIMARY CLUTCH) M14 X 1.5 METRIC PORT - S R
\ ’ CONFORMS TO ISO 6149 —
! TIGHTENING TORQUE 20+2 Nm 6.0 —=|=
L A TEMPERATIURE PORT FOR USE WITH OPTIONAL
AUXILIARY LUBE SUCTION PORT OIL DRAIN CONFORMS TO ISO 6149
FLANGE SIZE 38 M33x2.0 METRIC PORT TIGHTENING TORQUE 20+2 Nm - 607.7 -
287 2 PERNﬁ’g ?17652 g%%DDEE?;FZ CONFORMS TO ISO 6149 FOR USE WITH OPTIONAL - | NDWF-75179 | 08/05/2015
= : . X119, 39 TIGHTENING TORQUE 88+8 Nm TRAILING PUMP REV| _ CHANGENO. DATE
15 mm CLEARANCE REQUIRED
TO REMOVE PLUG FIRST USE ASSEMBLY: 1020675 . 954 .55 MATERIAL: DATE:
FIRST USE MODEL: MGX-6848SC ElfHT o @D G THIRD ANGLE S00%{57/2015
44.3 - SIMILAR TO: Rl ot HEAT TREAT: 1:4 RACINE, WI 53403 - USA
M ETR C N ACHINED BIMENGIONS ORAVINEY: '
X. +0.75 MG
R e e L T K08 PESCRITION seiies— 1025142M
= 440.0 —— 440.0 - TWIN DISC, INCORPORATED e Ry NP INSTALLATION APPROVED BY: |DWG SHEET: REV:
GRANTED 1O THE U8, GOVEANMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-6690SC/MGX-6848SC JMF size: AQ 10F1| -

J I H G F E D C | B | A




	Sheet1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Section View A-A
	Drawing View10
	Drawing View11
	Section View C-C


